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NEW QUESTION 31 Refer to the exhibit. What is the most likely reason for the error?
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A.&#160;& #160;&#160; There are not enough local hard drivesto satisfy the local disk configuration policy.

B.&#160;&#160;& #160; One of the resource poolsis depleted (WWN, MAC, UUID).

C.&#160;&#160;&#160; The destination

blade is equipped with an M61KR-B adapter. D.&#160;&#160;& #160; The server is not equipped with adequate memory.
E.&#160;& #160;&#160; A User Ack maintenance policy has been applied. Answer: C NEW QUESTION 32 Refer to the
exhibit. How many additional chassis equipped with Cisco UCS 2204XP I/O Modules could be connected at maximum bandwidth

without exceeding the existing port licenses?

Hame: ETH_PORT_ACTIVATION_PKG

Wi panlear = colm

Grace Period Used: 0 Days
Poer License Count Comparson: Matching

Poar Usense Count Comparison: Matching

Hame: ETH_PORT_ACTIVATION_PKG
Scops: B

Grace Period Used: 0 Days

A.&#160;&#160;&#160; 1 B.&#160;&#160;&#160; 2 C.&#160;&#160;&#160; 3 D.&#160;& #160;&#160; 4
E.&#160;&#160;&#160; 5 Answer: B NEW QUESTION 33 Refer to the exhibit. Assume that thereis no digoint Layer 2
configuration. Based on the output, what will happen if uplink eth1l/7 on FI-A fails?

UCS-A ~eth-uplink/pin-group # show cxpand
Ethernet Fin Group
Maxs=: Sasple- PL;
Ethernst Pm Target
Fabric Endpoint

A fabricslansh phys=slot=1-part=7

B tabrieslan<B/phys-slot-1-port-7
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1= |—
05 (4 Ao fadr .rlul—:r 7E 1=n,(:. rfg?cn I{F,_.lurl’u(_ ,K'_
Bin Glaus. ‘Spilpre-F) ) | '_/'

OC5=A Aoth= npl;nk # shov interface
Interface

Fabric Il Slet PFort Admin State Oper State State Reascn
i

TR 1 7 Ensbled Up

A 1 8 Enabled p

B 1 7 Enabled Up

B 1 8 Enabled Up

. ."

Lic State

License C
xxxxx

License E
License C

A.&#160;& #160;& #160; The host will lose Ethernet uplink connectivity on FI-A. B.&#160;&#160;&#160; Fabric failover will
force the vNIC that is bound to FI-A to use uplink ethl/7 on FI-B. C.&#160;&#160;&#160; Cisco UCS Manager will disable the
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host vVNIC that is connected to FI-A. D.&#160;&#160;&#160; Traffic from any hosts using this pin group will use €1/8 on FI-A.
Answer: D NEW QUESTION 34 Refer to the exhibit. Y ou are setting up a service profile to iSCS| boot using a Cisco UCSVIC
1240. The service profile returns a configuration error when you attempt to associate it. What is the problem, based on the exhihit?

w Create iSCSI vNIC

Create iSCSI vNIC

Mame: <il
Overlay vNIC: mu -
iSCSI Adapter Policy: cnoiset‘.v = [E3 Create i5C51 Adapter Palicy
OO i GO
MAC Address Assignment: MAC-test{42/50) -
[ Create MAC Pool
The MAC address wil be automatically assigned from the selected pool.

A.&#160;& #160;& #160; TheiSCSI adapter policy isnot set.  B.&#160;&#160;&#160; iSCSI boot will not work with the default
VLAN. C.&#160;&#160;&#160; The default VLAN should not be set as native on the overlay vNIC. D.&#160;&#160;& #160;
The MAC address assignment isinvalid. Answer: D NEW QUESTION 35 You planto add anew VLAN to your updating service
profile template. Assuming that the default maintenance policy is configured, which statement about applying this change is true?
A.&#160;&#160;&#160; The change will be applied immediately once the blade isrebooted. B.&#160;&#160;& #160; The change
will be deferred until the user acknowledges. C.&#160;&#160;& #160; The change will be applied immediately with no disruption
to any bound service profiles. D.&#160;&#160;&#160; The change will generate an impact summary message.

E.&#160;& #160;&#160; The change will require all bound service profiles to be unbound. Answer: C NEW QUESTION 36 You
have configured a Cisco UCS C460 M2 Rack-Mount Server with two VIC 1225 adapters for single-wire management with Cisco
UCS Manager. Which statement correctly describes the operation of these adapters? A.&#160;& #160;&#160; One VIC is
designated to carry management, and the other VIC is designated to carry datatraffic. B.&#160;&#160;&#160; Both VICswill be
used for management and data traffic. C.&#160;&#160;&#160; One VIC will carry management, and both VICs will carry data
traffic. D.&#160;&#160;&#160; The Cisco UCS C460 M2 does not support two VIC 1225 adapters simultaneously. Answer: C
NEW QUESTION 37 Which two items have an impact on the maximum number of virtual interfaces that can be created on a
virtual interface card? (Choose two.) A.&#160;&#160;&#160; Number of blades in the chassis B.&#160;&#160;&#160; Number
of acknowledged links between the Fabric Interconnect and the I/O module  C.&#160;& #160;&#160; Number of connected
uplinks  D.&#160;&#160;&#160; Number of Fabric Interconnect port ASICs used by uplinks E.&#160;&#160;& #160; Number
of Fabric Interconnects F.&#160;&#160;&#160; Number of VIC Answer: BD NEW QUESTION 38 What isthe purpose of the
management interface monitoring policy? A.&#160;& #160;&#160; to monitor the management interface counters for errors and
drops B.&#160;&#160;&#160; to prevent VM traffic from being black-holed during a cluster switchover

C.&#160;& #160;&#160; to sync MAC address tables between peer fabric interconnects  D.&#160;& #160;& #160; to ensure that
the management interface of the managing fabric interconnect can reach the gateway Answer: D NEW QUESTION 39 How are
unified port expansion modules for Cisco UCS 6200 Series Fabric Interconnects licensed? A.&#160;& #160;&#160; All ports are
fully licensed by default. B.&#160;&#160;&#160; The first eight ports on the module are licensed by defaullt.

C.&#160;& #160;&#160; The expansion modules contribute eight licenses to the global pool by default. D.&#160;& #160;& #160;
The expansion modules contribute six licenses to the global pool by default. E.&#160;& #160;&#160; The first six ports on the
module are licensed by default. Answer: D NEW QUESTION 40 Refer to the exhibit. In the figure, the load balancer acts a
transparent TCP proxy, and establishes the connection with the client on behalf of the real server. What is this type of spoofing
caled?

Output as PDF file has been powered by [ ] plugin from www.ProfProjects.com | Page2/6 |


http://www.ciscobibles.com/?p=4491
http://examgod.com/plimages/ab0ceda60168_EB0E/341_thumb1.jpg
http://www.profprojects.com/?page=upm

This page was exported from - Free Cisco Training & Resources - Certification Exam Preparation

Export date: Fri Jul 11 15:11:54 2025/ +0000 GMT

Cliert Selected
Load Balancer Server
— — '
|
!
« ' 4 I
ACK |
'!‘WT_ }
M (M s f*'I- o :_— Eﬂ i
.;r'l_;;j.;;jﬂ- £/ _/_x_|_, S m;H’J-_A..._.‘; L

|
B !W*’
ACK

ACK
'HT[P“ 1 ?OOOK Date HTTPAH.1 200 OK Data f
Data |
|

i ACK |

A.&#160;& #160;& #160; Delayed binding B.&#160;& #160;&#160; Software-based |oad balancing C.&#160;& #160;& #160;
Transport proxy D.&#160;&#160;&#160; Application binding Answer: A NEW QUESTION 41 A load balancer performs an
operation on a predefined parameter, such as the IP address, HTTP cookie, or URL, when a new connection is made so that another
connection with the same parameter will always reach the same server. Which load-balancing predictor does this statement describe?

A.&#160;& #160;&#160; Round robin  B.&#160;& #160;& #160; Least-connections C.&#160;& #160;& #160; Hashing
D.&#160;&#160;& #160; Least-loaded Answer: C NEW QUESTION 42 What are the three benefits of SSL offload? (Choose
three)) A.&#160;&#160;&#160; Total offload of encryption from the servers B.&#160;& #160;& #160; Partial offload of
encryption from the servers  C.&#160;& #160;&#160; Layer 5 to 7 awareness for Layer 7 switching D.&#160;&#160;& #160;
Layer 5to 7 awareness for Layer 5to 7 switching E.&#160;&#160;& #160; Public certificates required on both load balancer and

thereal server F.&#160;&#160;&#160; Public certificate required only on load balancer Answer: ACF NEW QUESTION 43

Refer to the exhibit. Which type of SSL offload configuration is shown in the output?

A.&#160;& #160;& #160; SSL termination B.&#160;&#160;& #160; SSL initiation

rserver SERVERL
ip address 10.1.0.11
inservice

gerverfarm host 3FARML
description 3ERVER FARM 1 FOR 35L
probe GEN_HTTP
raerver SEREVERL 443
inservice

paraneter-map type http PARAMMAP HTTP
Ferver-Cconn reuse

case-insensitiwve
perzistence-rebalance
paraneter-map type ss1 FARAMMAP 33L
cipher R34 WITH RC4 128 _MDS

c1pher ESA WITH_RC4 125_ SH.A

————————— — e
wersion)all .y g y(d T (=

__’_r CAI LS\ PEASHON AL
gal-proxy service S5L_PSREVICE_CLIENT
28l advanced-options PARAMMAP 55L

clasgz-map type http loadbalance match-all L7_3ERVER_CL
description 3ticky for 3531 Testing

2 match http url .*.jpg
3 match source-address 192.168.130.0 255.255.255.0

policy-map type loadbalance first-match L7_S5L-POLICY
class L7_SERVER_CLASS

serverfarm SFARMI
insert-http SRC_IP header-walue "%is"™
insert-http I_AM header-value "35L_INIT™
insert-http SRC_Fort header-value "%ps"
insert-http DEST_IP header-wvalue "%id™
insert-http DEST_Port header-wvalue "spd”
gzl-proxy client 535L_PSERVICE CLIENT

C.&#160;& #160;& #160; End-to-end SSL

D.&#160;&#160;& #160; SSL testing Answer: B NEW QUESTION 44 In the basic DNS resolution process, which component
receives the query and sendsit to the location that knows the IP address for the destination? A.&#160;&#160;& #160; DNS resolver
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B.&#160;&#160;&#160; D-proxy C.&#160;&#160;&#160; Root server  D.&#160;& #160;& #160; Intermediate server
E.&#160;&#160;&#160; Authoritative server Answer: B NEW QUESTION 45 Which four options describe benefits of the global
load-balancing solution? (Choose four.) A.&#160;& #160;&#160; Device status within the data center B.&#160;&#160;& #160;
Performance granularity C.&#160;&#160;&#160; Centralized client access D.&#160;&#160;&#160; Intelligent traffic

management E.&#160;&#160;&#160; Reacts quickly for availability only F.&#160;&#160;&#160; Server monitoring statistics
G.&#160;&#160;& #160; Round robin support only for load-balancing Answer: ABDF Compare And Choose The Best PassLeader 350
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http://www.passleader .com/350-018.ntml NEW QUESTION 46 Which two statements about dynamic port binding are true?
(Choose two.) A.&#160;&#160;&#160; The port is connected when the VM is powered on and disconnected when the VM is
powered off. B.&#160;&#160;&#160; The port is created when the VM is powered on and destroyed when the VM is powered off.
C.&#160;& #160;&#160; The max-port limits are enforced. D.&#160;&#160;& #160; The max-port limits are not enforced.
E.&#160;&#160;& #160; The port is always connected. Answer: AC NEW QUESTION 47 Which two methods can be used in
communications between the Cisco Nexus 1000V VEM and the VSM? (Choose two.) A.&#160;& #160;& #160; Routed TCP traffic
using HTTPS B.&#160;&#160;&#160; Routed UDP traffic using port 4785 C.&#160;& #160;&#160; Routed UDP traffic using
port 7845 D.&#160;& #160;&#160; Layer 2 direct traffic using MAC addresses  E.&#160;& #160;& #160; Layer 2 broadcast
traffic F.&#160;& #160;&#160; Routed TCP traffic using port 4785 G.&#160;&#160;&#160; Routed TCP traffic using port
7845 Answer: BD NEW QUESTION 48 Refer to the exhibit. An administrator is setting up the VSM and VEM in Layer 3 mode.
The administrator adds a host to the distributed switch in VMware, but does not see the module join the VSM. Given the
configuration in the exhibit, which three configuration items must be included in the configuration? (Choose three.) [Fert-rrotile type Et

vmware port—group
svitchport mode tr

=witchport trunk a
no shutdown

system wlan 1,150,
°*=ts.=nablad T

pDrt perlle tvpe ve
vnware port-group
zwitchport mode ac
=witch access vlan
no shutdown
=y=tem vlan 1400
=tate enabled

A.&#160;& #160;&#160; The vEthernet Port Profile parameter must be set to Capability 13control. B.&#160;&#160;&#160; The
VEthernet Port Profile parameter must be set to VSM I3control.  C.&#160;&#160;&#160; The Ethernet Port Profile parameter must
be set to System VLAN 1400. D.&#160;&#160;&#160; The Ethernet Port Profile parameter must be set to VLAN 1400 in the
allowed trunk. E.&#160;& #160;&#160; The Ethernet Port Profile parameter must be set to Capability |3control.
F.&#160;&#160;& #160; The vEthernet Port Profile parameter must be set to Mode Trunk.  G.&#160;&#160;&#160; The
VEthernet Port Profile parameter must be set to VEM [3control. Answer: ACD NEW QUESTION 49 Which of the following isan
advanced networking function performed by VEM? A.&#160;&#160;&#160; QoS B.&#160;& #160;& #160; Snooping
C.&#160;&#160;&#160; VSAN creation D.&#160;&#160;&#160; VLAN pruning Answer: A NEW QUESTION 50 Refer to
the exhibit. The network administrator is adding a new Cisco Nexus 1000V Switch to vCenter, but does not see the new switch

under the vCenter networking tab. Which option describes the most correct cause of this error? |Command: _
VEM# show svs connections

connection VC:

ip address: 10.10.10.30
remote port: 80
protocol: vmware-vim https
certificate: default
datacenter name: DC1
_DVS uuid: 67 32 30 S0 ab d = 4-9%
dol{fig Hthtys: lﬁ:cﬁ*_lnr(_ F/P /'._ /_ﬁ’
_aphrational ek thd v hiedhblereza 1 [\ 2/
sync status: - —
version: -

ERROR:

VSM-PRI-186# conf

VEM-PRI-188(config)# svs connection VC
VEM-PRI-188(config-svs-conn)# connect

ERROR: [VMWARE-VIM] Extension key was not re
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A.&#160;& #160;& #160; Thereisamissing control VLAN inthe VSM configuration. B.&#160;&#160;&#160; Thereisa
missing packet VLAN inthe VSM configuration. C.&#160;&#160;&#160; VSM has no network connection to vCenter.
D.&#160;&#160;&#160; The VSM extension key isnot installed on vCenter.  E.&#160;& #160;& #160; The vCenter extension key
isnotinstalled on VSM. Answer: D NEW QUESTION 51 Which statement about FabricPath is correct?
A.&#160;&#160;&#160; In FabricPath, FTag is the 10-bit field in FabricPath encapsulation that identifies the topology or
distribution tree. B.&#160;&#160;&#160; In FabricPath, FTag is the 8-bit field in FabricPath encapsulation that identifies the
topology or distribution tree.  C.&#160;&#160;&#160; In FabricPath, the FTag is the 16-bit field in FabricPath encapsulation that
identifies the topology or distribution tree. D.&#160;& #160;&#160; |n FabricPath, the FTag is the 32-bit field in FabricPath
encapsulation that identifies the topology or distribution tree. Answer: A NEW QUESTION 52 Which two options describe
devices as they operate in FabricPath topologies? (Choose two.) A.&#160;&#160;&#160; Edge (or leaf) devices: These devices
have ports that are connected to classic Ethernet devices (servers, firewalls, router ports, and so on) and ports that are connected to
the FabricPath cloud (or FabricPath ports). Edge devices are able to map a MAC address to the destination switch ID.

B.&#160;& #160;& #160; Spine devices: These devices exclusively interconnect edge devices. Spine devices switch exclusively
based on the destination switch ID.  C.&#160;&#160;&#160; Edge (or leaf) devices: These devices have ports that are connected
to classic Ethernet devices (servers, firewalls, router ports, and so on) and ports that are connected to the FabricPath cloud (or
FabricPath ports). Edge devices are able to map a source address to the destination switch ID.  D.&#160;& #160;& #160; Spine
devices: These devices exclusively interconnect edge devices. Spine devices switch exclusively based on the source switch ID.
Answer: AB NEW QUESTION 53 What are the two FEX connection modes? (Choose two.) A.&#160;& #160;& #160;
Hard-pinning mode B.&#160;&#160;& #160; Soft-pinning mode C.&#160;& #160;&#160; Port channel mode
D.&#160;&#160;&#160; Physical-pinning mode E.&#160;&#160;&#160; Clan pinning mode Answer: AC NEW QUESTION
54 How many licenses are provided with the purchase of the Cisco UCS 6296 fabric interconnect? A.&#160;&#160;&#160; 18
B.&#160;& #160;&#160; 16 C.&#160;&#160;&#160; 12 D.&#160;&#160;&#160; 8 Answer: A NEW QUESTION 55 What
isthe default burst inaLAN QoS policy? A.&#160;&#160;&#160; 10240 B.&#160;&#160;& #160; 9216

C.&#160;& #160;&#160; 20480 D.&#160;&#160;&#160; 1548 Answer: A NEW QUESTION 56 Which feature must be
enabled on the upstream Fibre Channel switch if the fabric interconnect is configured in end-host mode? A.&#160;&#160;& #160;
NPV B.&#160;&#160;&#160; NPIV  C.&#160;&#160;&#160; Zoning D.&#160;&#160;&#160; Smart Zoning Answer: B
NEW QUESTION 57 Fault suppression allows you to suppress SNMP trap and Call Home notifications during a planned
maintenance period. Which three commands are necessary to activate these suppression policesin Cisco UCS Manager? (Choose
three.) A.&#160;&#160;&#160; Default-chassis-all-maint B.&#160;& #160;&#160; Default-chassis-phys-maint

C.&#160;& #160;& #160; Default-fex-all-maint  D.&#160;& #160;& #160; Default-FI-phys-maint  E.&#160;& #160;&#160;
Default-blade-phys-maint  F.&#160;& #160;&#160; Default-vic-phys-maint Answer: ABC NEW QUESTION 58 How many
traffic monitoring sessions can you create on Cisco UCS Manager? A.&#160;&#160;&#160; 16 B.&#160;& #160;&#160; 8
C.&#160;& #160;& #160; 24 D.&#160;&#160;&#160; 32 Answer: A NEW QUESTION 59 Refer to the exhibit. Which
statement about the interface that is connected to the NPV core switch is true? Host

Host

A.&#160;& #160;& #160; The switch that connects to the hostsis identified in the design as an NPV edge switch, and the port that
connectsto the coreisan NP port. B.&#160;& #160;&#160; The interface that is connected to the NPV switch will need to be
configured asan N-Port.  C.&#160;& #160;&#160; The interface that is connected to the NPV core will become an FP port.
D.&#160;&#160;&#160; The link between the NPV core switch and edge will come up asan E port. Answer: A NEW
QUESTION 60 When an NP port becomes operational, the NP switch first logs itself into the core switch by sending a FLOGI
request (using the port WWN of the NP port). What will occur next? A.&#160;&#160;&#160; The switch registers with the fabric
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name server. B.&#160;&#160;&#160; The switch will perform a PLOGI to the port login server. C.&#160;&#160;&#160; The
switch will register parametersusing FDISC. D.&#160;&#160;&#160; The NPV switch will perform a PLOGI using FDISC to

register with the fabric name server. Answer: A Compare And Choose The Best PassLeader 350-018 Brain Dumps
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